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Instructions -

i) An questig, _ tion

) This quast?onalzmm: uIS; I:ections : Section A, Section B, Sect°

per has

< Sectjgn D ang Section E. . carries

") Seetion A s of multiple choice type and each question
1 mark. | ries

iv) Section B ig of vVery short answer type _and each question ¢
1 mark ‘

v) Section ¢ is of short answer type-l and carries 2 marks each.

Vi) Section Dis of short answer t?pe-ﬂ and carries 3 marks each.

vii) Section Eis of long answer type. Each question carries 5 mar k*; i
In a four questions of this section internal choices hawl:' ef
glven. yo,, have.’to do only one question from the choices given in
the question

viii) The Symbols used in the question paper have usual meaning.

wUS - 3
Section - A
1. &) ﬂﬁmﬂﬂﬁqﬁm(mﬁm%
i) k=0 i) k=41
iii) k=-1 V) k= (39) 1

) wmpwgi?awaﬁ?aﬂfrm%maf@aﬁmw%mgqﬁw%

{ii)
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i) n=0 ii) n<n

i) n=n_ vy n>n, 1
The dielectric constant ( k ) of silVer 1S

) k=0 i) k=+1

i) k-1 ) K=o (infinitV) 1

T
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) COmmon-base amplifier
W common-emitter amplifier
1) common-collector amplifier
iv) none of these. :
c) What will be the refractive index of a thin prism material if its

refracting angle and angle of deviation are the same ?
i) 1-S ‘ 1i) 2-0

d) The equation 4 : H— ;He +2 Hﬁo +Q represents

. i v
i)  nuclear disintegratio® V) none of these.
11
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Among the following, which one I8 Not the fundamental particle ?
1) Positron if) Electron
iii) o -particle 1v) Neutring. J

Resistance R, inductance L and capacitor C are connected in
series. The frequency of alternative current source is n and
resonant frequency is ny . Under which condition does the current

lag behind the voltage ?

Y n=0 ii) n<n,
1i1) n=n, wv) n>n 1
g - q
Section - B
Fa@qaaﬂﬂﬁmﬁmmq@wm | ,
gt qORs ¥ T A € ? 1

e A 4 _ 3 yugdAiE At 39§
n=%arqaﬁm$ammasw:ﬁamaﬁn_2 o 3

WWW@@TWW@W@H? .

W;ﬁmﬁwm(g}mﬂm%? !
N”qﬁﬂ:ﬂtwﬁmaﬁmaﬂﬁm :
,

e ¥ R i i i 1

n features of electromagnetic waves. 1
1

d nature of CONVEX leng of

Write any two mai "
What ié meant by threshold wavelengt

What will be the effect on focal Jength an

3 gipped in a liquid of refractiye
glass of refractive index n=7 dip

3
index n= -é' ?

[ Turn rJ'f,l'.n,.
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What is
e .
M by the current gain (B) of a transiste 5

e) CalCulat
f]' Defin e Charge on nucleus -;NH in coulomb. !
el :
henpy, of self-jinductarnce. 1
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3. 4 An electron of energy 45 ¢V is revolving in a circular path in

magnetic field of intensity 9x10Sweber/m?. Find the radius of

circular path. - 2

b} A particle of mass m and charge g traverses distance d from the

rest in a uniform electric field E. Prove that the velocity ( v )

2qEd

attained by the particle is I’)= = 5

c) The magnifying power of a telescope is 9. When it is adjusted for

Parallcl rays .then distance between eye lens and objective is

20 cm. Determine the focal lengths of both the lenses, 2
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What are meant by ohmi¢ and non-ghmic resistances ? Draw
graph between voltage and Current for non.ohmic circuit and

define dynamic resistance-

@ us - §

2

Section - D
WAN] P T oA SN % AMR W AR s s S ael
st ST 3
NOR 2 Fa1 ¥ 7 T o Waleh Gite TN Fed Fiolt st i | 3
Rl o o uRT U deean 1 WHIEG e €
i = 3.5sin(628t + 1 /6) TR
v =28sin(628t - n/6) AT
T HIAT ¢ () URT H W AR O WM, (i) bl W (i) QT
e & S FARK | ' -3
e (y) RO & AR v o fAfER | T q R S W e
feraant s it ¢ 2 3

mmﬁmﬂ%mm'@wﬁmﬁwaﬁ%%m
45° T FT T &1 e AT HIOT A FEW 2 3

Classify nucleus on the basis of atomic number and mass number

and define them. 3

What is NOR gate ? Draw its logic symbbl and obtain truth table, 3
The equations of current and voltage in a circuit are as follows :
i=3-5sin(628t+n/6) ampere

v = 28sin(6281 - 1;‘!6] volt.

Find out (i) root mean square value of current, (i) time period and
(11i) phase difference between current and voltage. | 3
Write four main properties of 1 &Y% Whose Wa"c]ength 's larger
among y-rays and ultraviolet r2Y° ? 3
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8 Ic meridj it make®
On suspending m . 30° with magnetc meridian, ol
an angle of 450 wit Aagnet a. Jtal. What will be the actual ang
dip ? h the horizo .
ﬁ'aﬁmﬁ%h y| o & 91t B e q
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alternating current circuit, 3
Explaiﬁ Bohr’s model of atom. q
OR )

The energy of an electron of excited hydrogen atom j

S =34 ey,
Determine the angular momentym of the electron.

'Obtain the formula for refractiye index of m

aterial of prism in

terms of angle of minimum deviatig, and angle of Prism

3
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[ I

Explain both the laws of Kirchhoff of electrical circuit. 5

OR

Two wires made of same material and of same masses A and B are taken,

The diameter of wire A is half to that of B. If the resistance of A be

24 ohm, then calculate the resistance of B. 5
7. 9 ISl ¥ FTE-T07 FAURON § & aed ¥ 2 o-amel qtRe & e wmaey
s F1 & gal § whad Eﬁﬁ\tﬂ 5
arear
Hifes T ¥ WA TR W W @ O ® wie & o g et wfw
)
7. What is the meaning of matter-wave of Louis de Broglie ? Deduce the
relation for wavelength of de Broglic in terms of kinetic energy. 5
OR

' . e e ale capaci
Derive the formula for the ca1p51-,‘i1=“"‘“‘ of n h.unlltl pl pacitor,

o
wd

partially filled with a dielectric,

[ Tarn over
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)

Draw the “HeTgY level diagram for hydrogen atom. Show the transitions
of Lyman, Balmer, Pasch

en, Brackett and Pfund series in the diagram. In
which regjon do these &p .

ectrum lie ? 3
OR

What do you understand by electromagnetic induction ? State

Faraday’s
laws regarding electromagnetic induction.

5
T | F1 T & ?m%wmmﬁwmwas
ﬁaﬁfaﬂwﬁﬁm 5

ELE |

LED@WI‘W%?WW,WWWHW@1 -
What is the meaning of wavefront ? Explain

| the laws of reflection py
explaining Huygens’ principle of wavefront.

\.‘)
OR

What is LED ? Explain its principle, construction and working.
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R ® geqy (m) =01 x 107" Rt

TR T ANAW - 1.0« 101 el

0y

WH PRI (h) = 06« 10 M st Yo

ST bt et e (¢) - 3 10% Al

1
In e

—-= 0 x 10" Nm’!/v“
0

TR TRT (g ) = 10 H/42
Rt s (R) = 1.097 x 107wy

et it degefiern ( co) = 885 x 101202 /Nm?

Physical constants :

Mass of electron (m,) = 9.1 x 1-3! kg

Charge of electron = 1:6 x 10719 (/100

Planck's constant ( h) = 6.6 1073 J.g

Speed of light in vacuum ( ¢) = 3 x 108 m/s
L= 9x10% Nm?/c?

dn e,

Acceleration due to gravity (9)=10m /52

=1. -1
Rydberg constant ( R) = 1.097 x 107 m

ey 12 2 N--['n-z
Permittivity of free space (€y)= 885410 € /
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